- BXOM FAPAX
ABTOMOBWNEH
nogxogn
—
i1—5
~
|~ —
s r~
BXO[ —3 =
v creans || |F—S—1 (7
i —
i o || ae |
5
= QOAME/CTHLNBULLE
= 19,82 m? =
FTAPAX 1
3 33,44 m*
ayer 7
nPOXopR
OBLO NOMEUWEHWE Uy
7,20 M2 \%\w\
225
| =
e == I )
. B ABTOMOBHJIEH [ p—
M =] ACAHCBOP =
G
FAPAX 2
FAPAXK 3
319,56 v 18387
PAMITA 5% _0.30=582.20

j

\/

- 03efneHABaHe
(Xpactu) *

-0,30=582.20

:7» _ H=120 ¥ b
oseneHfiBaqe 1 o

(anpeeTa) «

e ¥ r..

BXO[ MOAS.FAPAX
corypwganmn |
e
| OfnM 2 oM 1
£ 12,50 m 18,00 m?
T R I

D

Qooo
2O 1n 1 1A
meBZZZ
- -
<
U — N mM I
WisPP PP
S|5gege
O |f|sss s
X [6loc o oo
O m X X x x
| | T TR
- = == =
g 1w
I |8l o o
m =
X[ [|zenym
X5 ¥ X
o Wmaa
< amww
{ B LSt S s
0
"
=0
a8
0



WGLEL
8 WL

M GLEL
L WU

WGL'EL
9 WuU

W 052l
S| ||

mean] |

 §[ ==

' §"

aAvzen
reHepaTof

g%
i
¢ m
59
37
2>
E 3
X
O
2o
m
=
NP
©
o
(5]
B
T,a)
=
=]
MAPKHI
BENOCHUNEON

W 08'8E LIE
S VY]

S0'645=557¢ I

FARY A |

VHLVHOIY VE GHHATIENOL

/

g |
8
1§ —
e 1@ ] 1
7 U
X 3 c1{15/32gm
s ‘ -
\ —
. 4 | ar-ry
> [ o =
5z = L & T
m; P i
[+-] =
N - zg |
% =
(<
10/cT{17}7/27cm
£ A
2i5 s
"3 R T
> ™ 3
> 5 — @ ; e
et — < N nk A
o v B S
T 5 W / o8 2 >
-~ < i B T2 i =
=8 2 / g
%2 = 2
= =z M ‘
£ Lo
° |4E_b
(]
w
— — =]
R
hegc)
=

|

el -

L
we A [1 wE 0 o
‘o b g o B
-8 25 F R
EN g = £
- g o
e I !

FAPAX

MAPKOMECTA i&?

CK/AQOBE ﬂéﬂ

KB.M

NOKPUTU

KB.M

KB.M

KB.M

lapax 4
l[apax 5

(aBe konw)

18.82
38.80

MNapkomacTo 5
MapkomAcTo 6
MNapromAacTo 7
MNMapkomacTo 8

12.50
13.75
13.75
13.75

Crknag 1
Cknapg 2
Cknag 3
Cknapg 4
Cknapg 5

2.53
2.53
1.97
2.40
2.56

Cknap 6
Crang 7
Cknag 8
Crang 9
Cknag 10

2.62
2.36
2.36
3.90
3.96



— N ————|

cLuv
N 9€'GE

BWdvedlvdl
/NHE3HT

Oan
ANAPTAMEHTU Ly

N 1626 LI

AnaptamenT 1.2 | 107.54
AnapTtameHT 2.2 | 115.89

w
=
N
e
N
@
%

-
:
5
o
=

E
m
>
o
®
I
0O
o
@]
"9

angidioxio

N €2'8E

N 99'66 LIEN_
ze uv

BAdYEILIVdL
/YHE3IHT




[ [T ] ] | BANKOH+———|

=y

- \m| 1 =0

S

6,88 m?

QLJ@Mﬁ

CINANHA

14,59 m*

O 4o

ANAPTAMEHTU

ﬁ 5,39 M . W W B = ,.mwwgn
— //]
| -
[ E z 1
=
I H—&—{—<=—1H!
OHEBHA/ 11— S -G
TPAME3APUA : o 5 JHEBHA/TPATE3APUS
35,36 M : e | 38,23 m? o
i 1 = | -
| ] — i) F— : | IS S Y |
AM.1.3 ] G&S 1 —r—r—
2 | | o (] P | i HM_I E [ E
2 o
E E E 397,87 m CTBIBULLE/ACAHCEOP -
322,28 W ) All.2.3 .
CYXOTpBOHE
=l EI45CO . eusco  \3I1 105,05 m — —
w_ (- = N I
I\ ]
L
%) K.BOKC K.BOKC
2 - B
] (Y R 1
D— —=J \/f\_/ T — 3 %k Xk /)\
— £ = -
* TTETT
| A\ . =
[@] | |

KOPKWOOP

5,17 m*

CIMANHA
15,02 m?

| |667m

~ O
Sl =
@l m
¥l— N
— -
sl L
— N
- =
2l
U v
=2 2
0
E e
8 o
M [©
C C
< <




BANKOH i =
5,39 m? T a I
| 1 = 2 .
] .o,., =1 e T
: SR e =
mﬁ../‘ : \i
\\\ﬁ 3 P
I & —¢
o 3
g :
{ _ z o
U [«3] y o
-
AHEBHA/ a —b
TPATE3APUS 1 o ||_= : OHEBHA/TPATIE3APUS
35,36 M2 : E | 38,23 M2
1 o |

All.1.4

[ gus

97,87 m :
39 m CTBNBULLE/ACAHCBOP
3M 22,28 m? _
CYXOTPBOHE
El45C0O mm
HuH

KOPWOOP
6,88 m?

CNANHA
14,59 m*

EI45CO

All.2.4
3M 105,05 m?

Il

1 nemk1s
[
T

0

16,10 M2 _

Kn.B.T. \'“

T o]
| 6,67 m*

el

(O

KB.M
13.77

ANAPTAMEHTU

AnapTameHT 2.4 | 122.16

AnapTameHT 1.4




; 1 [ eankon
L1t 5 39MF L

OHEBHA/
TPAME3APUA
35,36 M2

AHEBHA/TPANE3APWA
38,23 m?

9 gr.16.8 24M F
L

i
+11,40

AM.A15 | - L

30 97,87 m?
4 CTBNBULLE/ACAHCBOP
30 22,28 m? . Al.2.5
~_cyxorpue 31 105,05 m?

El45C 55 ELDCD

2 :
ORRRE < KOPVIOP
6,88 Wm/ = .= 5,17 M?

CMANHA CNANHA
12,35 m? 15,02 m?

i NIOQANA
0 6,10 M2 _=
I T

AnaptamenT 1.5 | 113.77
AnaptamenT 2.5 | 122.16

ANAPTAMEHTHW ¢ by




El45CO

3N 22,28 m?
CYX0TpBOHE

Tt L e o BAITKOH
g 2 | { m m ! z
5,39 m ] c c 1 _m..,m.w.:
| _ e —
1
— ~ g
g S
| = [
===
[OHEBHA/ : > & 3
TPAMNE3APUSA : m o OHEBHA/TPAME3APUA
35,36 m? : E ~ ] 38,23 m?
* D = :
[ — — : =
: a +14,25 —
| l—r— | AN1E $—= ? —
3 97,87 m? =—
— e CTBNBULLE/ACAHCLOP

Al.2.6
30 105,05 m?

El45CO

KOPWOOP
5,17 m?

ICNANHA
15,02 m?

RN

T T
- nomkma ———— r.uj ,

g 6,10m
T e ui ¥ 1

| nomkis
m_@,ﬂ m?2

© oo,

AMAPTAMEHTU )y

KB.M

AnaptameHT 1.6 | 113.77

AnapTtameHT 2.6 | 122.16




cTbnbalkopuaop
8,47 m?

16|cT]

17,8/p6

CMNANHA
14,59 m?

-+~ BAITKOH — & z | BATKOH
6,73 M2 e e | B m_w.w_s.. ;
_ r=tee| H : : - H=162 —
— MW
| ST
< w_, : - e
) F m S H
__‘ : 3 o [ d
AHEBHA/ : E o |
TPAME3APUSA o ; OHEBHA/TPANE3APUA
33,73 w2 G | T 36,55 2 o
ﬂ ﬂ ﬂ — e% 10 D D D
: ekt el _. CTbNBEU ,m\>o>zo_uo_n 1 IL-F (Lboiieg
4 | 3neotw |_w il , 30 104,97 v =
I T P3r1 mwm_.\mﬁ 301 240,81 m? =
101 EM5L0 . El
=== =
= [ - :f m
K.BOKC / K.BOKC s
n 33
RN e
/ A== =

e |

ctenba/kopuaop
8,79 m*

16 cT.

26cM

CINAINHA
12,61 m?

T 015010115, R 01461y ‘QH_mu‘_D_sN B}
i

/ v . sleeceoace
.

| nomios romkvin |

IEESSE U
O N
g 2ls|e o
@@mmm

s |

NN
W o'y
= ] e el o
Slu o
Elas s
o 955
= |EE
< << <




AlM.1.7 (ll-po HuBO) @ w All1.2.7 (ll-po HuBO)
31 88,98 m? S 3 91,75 m?

CKnagoBo

nometyeHue : CKNagoBo
3,57 m? - [ ¢ nomeLueHne

4,97 »?

16/cT117,8/266M

Gﬁ_w_mm

cTbnGa/kopuaoH

AnaptameHT 1.7
AnapTtameHT 2.7

o
=
- |©
T |
2z
< &
TI
o
<
=
<




© o0
AMNMAPTAMEHTHU @?@7

AnaptameHT 1.7
AnaptameHT 2.7

Q
-
>
1

©
[o:]
~J
z
%,

< N B0'r LE

H

b
-
[
2
=
i
o
m =
5
@

N 2028
VOVd3L
I
o
09Z=
I

ik
IN=H
!\!I[] [ ]




